EARAROBEEIERT — 2 N— IBISH —F 20191 A23H (k) 24mEEM2H

m C2 ¥5%4® Lt (xwlw | lmEmml - |5 ) e
[AE4£] 17 :400,000 @ ~ 23#&:112,000 @ ~ 3 3#&:56,000  ~ 43#&:40,000 ™ 5 3&:32,000 @
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o4 | BEFE 2:07.7 3-4-4-3 | 40.4| — 2 461 | BEA(EE (k)
1111|717 56.0 (=) (+4) |MARTRZ
RiANTz—JI BRI E2A L [ ke ]
= s 47 4 4 | BEHT 2:07.9 4-3-2-1 | 40.7| — 7 504 | IS (FEH)
EH 3| TITIXXE— 56.0 (3/4) (-3 | EBFEEF
RIINATXA—H— B:H—> e
S = o4 | KHEFR 2:08.0 9-9-5-5 |40.4| — 3 488 | EAFIEIRE (i)
37| 7|7 KX b YT — g 5.0 (1/2) 1) ey
L:a2—RLEIIL B:H=—FIHTF— (B) #BA3—-RKL—va>AaE77
- . TERE : —6-6- — BAGEE (FEH)
B Tz o4 T (21.018/.42) 5-6-6-4 | 40.8 5 ?:337) o
g1 7 h7=bEY B:IFTTN— HA A
N o n=-4 :08. -8-7- . — ISR (Tl
5155 T/N—raEHL IR A 7 A L | Emen
LN=Y774 B:bOEHINTTyHL J—HrTr—LA
R EREE :08. 21~ 7| - SRERGL (EIH)
6N 4| T RIVAILL i 56.0 2(708t? S I ! tg? TR
L ZRFAd—I R B:7—NXy b EvJLy RIT7—L
_ = 47 | BAER 2:09.7 7-5-8-8 | 42.1| — 6 568 | FIEFE (EM)
706 b—7L7Z 57.0 (5) (1) | NTER
LN=V754 B:h=TIFA4b=2T ~— 7805
= e aAEE : -1-3- — s (FERG)
slalg| 275 R5—L i 5 S 2.(191).2 1-1-3-7 | 44.2 9 (4_377) /E.:\Eﬁﬂgﬂ
A Lhk—L B:TIV—FKFUZX piksgse]
. 44 | KEKER 2:11.3 6-7-9-9 | 43.5| — 8 450 | W& (FEk)
9/8]|8 IZ—FILUgI) 56.0 (7€) o) RYTEREH
L:r07%x B:xdr7—71z14K BB 7—L4
® I—F—@EBIERL
13—7F— 9,4,1,3,2,8,6,5,7
20—F— 9,4,3,1,6,2,8,5,7
3T—7— 4,3,9,1,7,2,5,6,8
41—F— 3,4,1,2,7,5,9,6,8
[ N5
B 1 340H 794K 1-3 610M & 1-3 2,890 &R 1-3-7 2,910
# B 1 1304 1-7 320 B E =8 1,960M EE 1-3-7 16,000
3 270/ 3-7 960M B H 1-3 3,120M
7 170

ABICOVWTRDTEEERROODE. TR LIV,



